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They receive lashes and pay, because the ‘name’ which causes them
to receive lashes does not cause them to pay

OVERVIEW

The mawn cites the view of 7°8k» 'I; in a case where 07V testified that someone owes
money and they became 211 0>7v, the 0*7v will receive mpon (for lying) and will
have to pay to the alleged borrower the amount they wanted him to be liable for.
The reason that n"1 gives is PMWN 77 8% Nd1 7% R0 own Row. There is a
dispute between *"w1 and Moo, what "1 meant with 121 Wi ROW.

- PRTYN 1Y 1NN IR IPN KM 19977 M9 1Y 1NdaNT *NIPNI 1w
"1 explained the meaning of "1 own X5w that the P which causes the 7V
TN to receive mon, which is derived from the 0o of mayn 8®; that 7100 does

not cause the 11211 0°7Y to be required to pay -
- D5WM NP 291 *EIUNY DNt YN 1Y ‘onw NI NN

But rather the reason the 12m 7 0°7y are required to pay is derived from the 0op
of 2»r 2wr> Y2 anwy, therefore since the two rulings are derived from two

separate 0°p109, they receive nypv» and they pay. This concludes *"ws.
- SB5W) NPIY 1IN NIP 1N NIN NI INT YN

It seems from °"w" that if there was only one o2 which states both penalties
(MP2n and M5wn), the Prant 07 would not be abway P,

mooIn asks on *"wIo:
= (DW) N,N¥ 97 Ry Ka2) DTN NN 92IYNA 139N NN DY)

And there is a difficulty with s""v7 explanation, for the Xn»92 states in 79

291057 DR 1OWST -
- 7DY0NN NY7 INY 1h NYN NIYT 23 9 R D5YUM NP 1A WITY 199 29 BOINN

! The n"27 N3 amends this to read XIpPn "wa WD (instead of Xpn WD), See Xow 1"72"wA.

> When »"9 said ows X7, the word ows is referring to the p105 from where we derive a particular penalty or ruling
(regarding the 17 0279). It is perhaps referred to as 0w, because we call this prohibition by the ‘name’ of the X?;
in this case the ow of the W7 is 71vn XY.

32,9 () M.

4 0,0 (VOIW) 0°13aT.

3 The o*mon argue with »"1 because we derive from the P09 in 2,73 (X¥n) 0127 which states 1Nywa >72 that he is
liable only for one nvwA, but not for two (see 25 7"7 >"w1). However n"1 maintains that since these two nvywa are
derived from two different 2°109 the 1°n1 7Y are liable for both.

% "3 would agree with the 1127 that if there are two punishments which are derived from the same P09, that we
cannot administer both punishments. because of the 1nywA 72 (see footnote # 5).

77,79 (X¥n) 027,
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One who muzzles the mouth of his friend’s cow which he rented to thresh with
it his (the renter’s) grain, the renter who muzzled the cow receives mpb» for
transgressing the X% of w72 7w o010 X7 and he pays the owner of the cow for
the food the 775 would have eaten from the (renter’s) grain has he not muzzled her.
This rule is so, even though there is only one > of 1°72 M @wnn 85.°

mooIn offers his interpretation:
= 99D 9917 2NNAN NN 13929 290 WO 7Y

Therefore (because of the difficulty with >"w19) 133713% 8% 9''77 explained that
this is what »"2 meant when he said -

- PRTYN 1Y INYANY 29K 19N 1ran »19Y 1xvann Towh RV
[A7%2 omvown 7% IRa%] NIoR 7O INCanT awt K9, [it means] there is no need

for a P105 to make the 7217 27V pay -
= PIYUNY DN 2 RO MPYNY KYT >HPYH XY INT N9DIN 1WA INT NN WA XY PmyunT

For the obligation to make a payment does not require a warning (of a >),"
for if payment would require a warning, the P»»11 2°7v would certainly not
receive mpvn, for then we would assume that the P09 of 71vn XY (the warning or
X?), is not written so that the 111 °7Y receive mMp n, but rather it is written in
order to obligate the 1n21r 07y for payment —

mooIn proves his point that an 77718 (or W), which obligates a punishment other than NP9 (in
our case 1"M>wn of ont WRD), cannot be utilized to give the MpPY» punishment:

- 21553 19919 PR 17 1152 DN HININY 1Y INY (3, 47 1nps) 19VINTD
As the X nx states, a > (a prohibition) which was given in order to be a

¥ 92X there explained that this Xn™92 of a%wm 7p1> follows the view of »"9 (here). It is evident that one can be 7PV
o%wm even if both penalties are derived from the same p105. The reason the renter pays for the food which he
withheld from the cow, is since that there is the rule of w>72 7w 100N K> therefore the cow’s owner rented out the
cow with the understanding that the cow will eat from the threshed grain (besides that generally a renter is liable to
feed the animal he rented). Since the oo withheld the food from the cow, he is required to pay for it. Both
penalties, the Mp%» and the 11mn, stem from the same 105 of oonn K>. It is evident from that X773 that n"1 does not
require two 0°p109 in order that one be o2wm 7712, not as >"w1 maintains.

? The 'ov' or P05 which is mon >7°% X021 is the 7109 of (3,0 [1N°] NMAY) PWw 7v w12 7wn XY, we do not need any
other W7 to make the P71 07y pay. A > is required in order to give np2n, but not to obligate someone for
payment.

19 The n"21 N3 amends this to read, 7% 1K M2 PMPWN T W2 N7 (instead of 11X Md7).

" There is a general rule that 17" 19 OR K2R WY PR (there is no [corporal] punishment meted out by 7"°2 unless
there is a warning (a X?) in the 770 which prohibits doing this act). However regarding monetary payments (for
damages, etc.) there is no need for a warning or ?; payment is due whenever it is required.

"2 This is referring to a case where a person transgressed a 3> for which there is a 7"2 nn*» 21 (he was naw Yomn,
etc.), however when the witnesses warned him that he is transgressing a W% they only told him that he will be liable
for mp“n, but they did not mention 7n°», the rule is that he does not receive mp?» (and certainly not 1n°»), for since
the W% of Naw 712’1 is associated with 7"2 nn>», the 70 does not apply it to any other punishment.
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warning for a court implemented capital punishment, there is no nmpb» for

transgressing this W>."* Therefore we cannot say that P9wn requires an 77X -
- 790X Y3 H¥ohws BYY 2519 P JWa NININ XIPYT NININ YA NI NN

But rather m%wn does not require a warning (and as proof) for there is no
warning for knocking out a tooth or an eye, and nevertheless the P05 states, ‘he

shall surely pay’, without a warning (a Ix%) -
= NON MPYNIY NIYN XY 799N

Therefore the 777X of mwn XY comes to give mp®» to the P»» 297, and
regarding 1m7wn the P 2°7Y (certainly) pay on account of 2n7 WK 12 an*wyy, and we need no
mImR for MW, the 77K of 7awvn X is for Mpo» only.

In summation; according to *"w" in order to receive both mp?m an the obligation for each must
be derived from a separate 105 (indicating that if they are both derived from one 105 there is no
own 7p1?). According to mooin as long as the WY is not necessary for any other penalty besides
mpon (in our case the Man of anr AWKD), the rule is oPwm 7717 (if the WY is necessary for any
other penalty besides mpon there is no I?17).

mooIn explains why by 21070 &Y he is 09w 7712 (according to 'oin 9): "
- MPHNY NI NINN KY DIDNN KT 1IAIRT Tha9 5y *mronn Y7 703 199

And similarly regarding the case of 21010 X® where the renter receives mp?n (for
transgressing 01010 R?) and has to pay (for the food he denied the owner’s 779),
even though they are seemingly both derived from the same 05, perforce the

7978 of 21010 XY is only teaching that there is nypY7 for the oo, but we do not need
the P10 to obligate the oo to pay the owner -
— NP9 NDMIN PvYNY

Because the payment is due automatically -
= YV NN DIIND NINIY NN DIYIY NIN 17 DIDND NI 1INT 11994

For since he is not permitted to muzzle the animal, logic dictates that the oo
should pay whatever the animal was capable of eating during this time that it was

" nooin is saying that just as by a 7"*2 nn*m nIATRY 107w WY there is no NPY; since the 777 is designated for nm,
we say that it is exclusively dedicated for n°»n and not for mpn, the same would be here by o°»m1 *7v. If in order to
fulfill the punishment of an7 MWwX2 we would first need a W7 (since 1771 2"RR PwWY 1°X [see footnote # 11]), and that
7 will be mwn X9, then it would be limited only for the punishment of ant 2wx> (whatever that may be 1n° or 171
depending on the case), but it could not cause the punishment of Mpo» (just as by 7"°2 NN PR there is no NMPon).
Therefore we are forced to say that 1"m>wn (the payment due on account of ont WwX3 Y2 an°wyY), does not require an
77N, and consequently we are then free to use the mwn &2 for npon.

4 There is some discussion among the commentaries whether m»oin is referring to the case of ¥ nnn 1"¥ 7w nnn 1w
(3,73 [ mR] ®7p"), however the words 02w 09w are not written there. Others change the X073 from P W to 121 MW
or 71 M, etc. They all agree that Moo means the generic idea that there is a 1"2wn 270 by 1211 even though
there is no XY to be p>1. See 1% 71W.

15 [See footnote # 17.]

1 See footnotes # 7 & 8.
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threshing —

mooIn responds to an anticipated difficulty:17
= MPYNRY XD PHNY RN NININT 99919 NIHY

For one cannot say that the 79778 of 1yn X% comes for monetary payment (by

the oo1), but not for NP»M; one cannot assume this -
- %3551 559NN NY DNT P9W NIPnW) W12 NI YIRN DY PYYA XD 2IN9Y 19 ONT

For if indeed it is so (that 71vn X% is coming for 1n but not for Mpon) let the P1ws
be written in the affirmative, namely ‘feed the ox while it is threshing’, and we
would properly derive from this '?109' that if the renter did not feed the ox, he is

liable to pay for the feed -
NN MPYNY NN 29 N9NIN Tn99 HY NON

Rather since it was written in the prohibitive, perforce we must say that 71vn X3 is
coming for the MP®% 21°1, but not for the 1» 211, which comes automatically.

SUMMARY

"9 maintains that one is 2°w» a7 if the 1 mphn are derived from separate
0°p109, while Mo0In maintains that one is 07w 717 if the XY is not written for any
penalty besides mpn. There is no 1R necessary for PP 11 "m%wn.

THINKING IT OVER

moon proves that PmPwn needs no 77X from P v, etc. However we can
distinguish between a case of damages which were actually done (which requires
no 77R), and 72m7 27V (where no actual damage was done), in which case an
777X may be necessary! What is the proof?!"

7 In the case of o0nn XY there is no other source (besides monn X?) that the oot is 11 20 (unlike by 1T o7
where there is the P1ood of onr AwXd 12 an*wy which obligates them to pay even without the P05 of mwvn R?);
therefore one may ask how do we know that 01onn X7 is teaching us that the oo receives mpn, perhaps it teaches
us that the o001 needs to pay, but there is no mp=n for it is like a 1929 1P12 PRY ...NTIRY 1022w X7, [Alternately (see
0"17n); by P11 where he caused a damage, it is obvious (without a 1X?) that he is required to pay, however by 7°0n
if there is no X7 of 0Y0nN R there would be no reason to pay, therefore perhaps 2101 X7 is coming for 1117.]

'8 Regarding 1mn 2rn there is no difference whether it is written in an affirmative manner (M 92X7) or in a
prohibitive manner (1M 21000 X?); in both cases it is understood that the oow1 pays.. It is only regarding the 2vn
mpon that we require a WY, for there is no Mpo» 211 for transgressing an 7wy.

"% See TN waon WK # 31.
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